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Series
. ’ 4
INTRODUCTION 3 1 1 1 1
(B =i, s
Now-a-days questions on series are asked in almost every 4 12 36 100
competitive examination. These questions may involve 11 | 1
numbers only, letters (4, B, ...) only or a combination of (d) 5" 30° 180  10%0

both.

SERIES

A series is a sequence of numbers. These numbers are
called terms of the sequence. All the terms of the sequence
are arranged according to a certain predefined rule. After
carefully studying the given series and finding the specific
pattern in which the terms are changing, it is possible to find
out the next term of the series.

NUMBER SERIES

1.  Arithmetic Series An arithmetic series 1s one In
which the difference between any two consecutive
terms is always the same and is called the common
difference, that is, each successive number is obtained
by adding (or subtracting) a fixed number to the
previous number.

Illustration 1 Consider the series: 1,3,5.7.9, ....

Here, 2nd term — Ist term = 3rd term — 2nd term
=4thterm — 3rd term=...=2
Hence, 1, 3, 5, 7, ... is an arithmetic series.
2. Geometric Series A geometric series is one in which
the ratio of any two consecutive terms is always the
same and is called the common ratio, that is, cach

successive number is obtained by multiplying (or
dividing) a fixed number by the previous number.

Ilustration 2 The series given below:
(a) 2.4,8,16,32, ...
(b) 3,-6,12,-24,48,...

(&) x, 252 ... (where x is any fixed real number),
are all geometric series. The ratio of any term in
(@) to the preceding term is 2. The corresponding

ratios in (b), (¢), (d) and (e) are -2, %, % and x,

respectively.

3.  Series of Squares, Cubes and so on. Simple powers
of natural numbers (squares, cubes, etc.) or their
combinations are sometimes used to form some series.

Illustration 3
(@ 4,9,16,25,36, ..

Each term in this series is a perfect square. The square roots
of the terms are 2, 3, 4, 5, 6, ... . Clearly, the square roots
of the terms of the given series are forming an arithmetic
series with common difference 1. So, the next term of the
series will be (6 + 1)°, that is, 49.

(b) 1,27, 125,343, ..

Each term in this serics is a perfect cube, The cube roots
of its terms are 1, 3, 5, 7, ... clearly, the cube roots of the
terms of the given series are forming an arithmetic series
with common difference 2.

So, the next term of the series will be 92, that is, 729.

1 4 9 16
© =, —, = ==

8 27 64 125
In the above series, the numerators are squares of natural
number (i), while the denominators are cubes of (n + 1).

: . 5
So, the next term of the series will be 22? 3
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4. Arithmetic Series of Second Order We know
that in an arithmetic series, the difference of any
two consccutive terms is always the same. This is
arithmetic series of first order.

A series in which the difference between successive terms
themselves form an arithmetic serics is called an arithmetic
series of second order.

Iustration 4 Consider the series 1, 3, 7, 13, ...

The difference between successive terms of the above series
are 2, 4, 6, ... which form an arithmetic series with common
difference 2.

So, the next term of the series will be (13 + 8), that is, 21.

5.  Arithmetic Series of Third Order A series in which
the difference between successive terms themselves
form an arithmetic series of second order is called an
arithmetic series of third order.

Ilustration 5 Consider the series:2, 9, 17, 28, ...

The difference of successive terms of the above series is 7,
1 £9 SR

The difference of successive terms of the above series is
1, 3. 5, ... which forms an arithmetic series with common

2 3

difference 2.
So. the next term of the series will be (28 + 16), 1.c., 44.

In this manner, we can construct arithmetic series of higher
order.

6. Arithmetico-Geometric Series In this series, each
successive term is obtained by first adding a fixed
number to the previous term and then multiplying it
by another fixed number.

Illustration 6 The series: 1, 9, 33, 105, ... is an
arithmetico-geometric series as each successive term
is obtained by first adding 2 to the previous term and
multiplying it by 3.

So, the next term of the series will be (105 + 2) x 3,
that is, 321.

It is important to note that the differences of successive
numbers in the above series are 8, 24, 72, ... which are
forming a geometric series.

7. Geometrico-Arithmetic Series In this series, cach
successive term is obtained by first multiplying (or
dividing) the previous term by a fixed number and
then adding (or subtracting) another fixed number,

Illustration 7 The series:2, 5, 17, 65, .... is a geometrico-
arithmetic series as each successive term is obtained by first
multiplying the previous term by 4 and then subtracting 3
from it.

So, the next term of the series will be (65 x 4) -3, that
is, 257.

Again, note that the differences of successive numbers
in the above series are 3. 12, 48, ... which are forming a
geometric series.

8. Double Series It consists of two series combined into
a single series. The alternating terms of this series
form an independent series.

Illustration 8 Consider the series:
1,2,4,6,7, 18, 10, 54, ....

Terms at odd places of the series: 1, 4, 7, 10, .... is an
arithmetic series.

Terms at even places of the series: 2, 6, 18,54, ... is a
geometric series.

So, the next term of the series will be (10 + 3), that
is, 13.

Finding the Wrong Term in a Series

In such questions, a number series is given of which all
others except one are similar in some respect. The one
term of the sequence does not follow the same pattern as
is followed by the others. This one is the wrong term in the
series. To find the wrong term in a given series we must
study the given series carefully and find the pattern/rule in
which the terms are changing. After that, we should find
which of the terms is not changing according that pattern/
rule. Thus, the wrong term is found.

Hlustration 9 Find the wrong term in the given series: 5,
10, 17, 24, 37, 50, 65

Solution: The terms of the series are in the following order:
2241,%41,4+1,5°+1,62+1,77+1,82+1

Clearly, fourth term of the series, that is, 24 should be
replaced by 26 so that all the terms of the series follow a
particular pattern. Thus, 24 is the wrong term in the given
series.

Finding the Missing Term of the Series

In such questions, a number series Is given in which a blank
space or question mark is provided in place of any one term
of the series. The term at the blank space follow the same
pattern as followed by other terms. We are required to find
the missing term to replace the blank space or question mark.
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IMustration 10 Find the missing term in the given series:
49, 56, 64,72, 7,90, 100

Solution: The terms of the series are in the following order
72,77 +7,8%, 848,97, 97 +9, 107

Clearly, fifth term in place of question mark will be 9°,
that is, 81.

SOME SPECIAL SERIES
1.  Series of Date or Time
(@) Consider the series,
3-2-2004, 13 -2-2004,23 -2 —2004,
5-3-2004,
Here, each successive date differs by 10 days.
Since 2004 is a leap year, 5 — 3 — 2004 should be
replaced by 4 — 3 — 2004,
(h) Consider the series,
3.35,5.00,6.25,7.40,9.15, 1040

Here, each successive time differs by 1 hr 25 min.
Therefore, 7.40 should be replaced by 7.50.

2.  Numbers Followed by Their L.C.M. or H.C.F.
(@) Consider the series,
i 2; 350::4: 8,660, 5,6, 7, .7

Ist part 2nd part 3rd part
1,2,3,6 4,5,6, 60

Here, in each part fourth number is L.C.M. of first
three numbers. Thus, the number in place of question

mark will be 210 ( L.C.M. of 5, 6, 7).
(b) Consider the series,
8,4,4,7,8,1,3,9,3,2, 1,7
Ist part 2nd part 3rd part 4th part
8,4,4 7.8, 1 3.9:3 2,17
Here, in each part third number is H.C.F. of first

two numbers. Thus , the number in place of question
mark willbe 1 ( H.C.F. of 2, 1,).

3.  Numbers Followed by Their Product
Consider the series,
1,3,3,9,27,243,?
Here, 1x3=3

3X3=9
3x9=27
9x27=243

27 % 243 = 6561
Thus, the number 1n place of question mark will
be 27 x 243, that is, 6561.
4. By Use of Digit Sum

Consider the series.

11,13, 17,25,32; ¢

Here, 13 =11+ (1 +1)
17 =13+ (1+3)
25 =17+(147)
32 =25+(2+5)

That is, next number = previous number + digit
sum of pervious number.

Thus, the number in place of question mark will
he 12+ (3+7) =37,

Alpha-Numeric Series

Such series involve the use of both the letters of the
alphabet as well as the numbers. It is a two-line series.
One line is a number series while the other line is an
alphabet series. The terms of both the series follow the
same pattern/rule. One of these two series 1s completely
known. We have to find the required number of the
incomplete series.

Illustration 11 2, 7,17, 37, 77,

3.4, bcd
2 7 17 37 T
| fl ] f f
x2+3 x2+3 X2+3 ®X2+3

a=3x2+3=9
b=9%x2+3=21
c=21%2+3=45
d=45%x2+3=93
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Practice Exercises

DirricuLty Lever-1
(Basep on MEMORY)
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Directions (Q. 1 and 2): In each of these questions, one term in (a) 32 (h) 60
the given number series is wrong. Find out the wrong term. (c) 68 (d) 66
1. 8, 14, 26, 48, 98, 194, 386 |Based on MAT, 2000]
(a) 14 (k) 48 11.
{c) 98 (d) 194

[Based on MAT, 2004]
2. 11, 5,20, 12, 40, 26. 74, 54

Y

R0 R
XK RS

(a) 5 (h) 20
(c) 40 (d) 26
[Based on MAT, 2004]
“Di‘re(‘:t}ions LQ 3 to{S)?l;’;?_ec:ch o:ir'n;:.‘el,fg(o:-‘ff?g m.-mf‘)elr :wei‘lies, wo (a) 240 (b) 195
erms have been put within brackets. Mark your answer as (©) 34 @ Noneof these

(a) If both the bracketed terms are right.
(b) If the first bracketed term is right and the second is wrong,

|Based on MAT, 2001]

(c¢) Ifthe first bracketed term is wrong and the second is right. 12. 6, 15,36, 75,7
(d) If both the bracketed terms are wrong. (a) 231 (6) 138
(c) 214 (d) None of these

3.4.6, 10, (12), 16, (14), 22. [Based on MAT, 2004]

[Based on MAT, 2001]

4. 3, 10, 29, (66), (127), 218. [Based on MAT, 2004] 13. 15,45, 7. 405
5. (2),5,(12), 25,41, 61. |Based on MAT, 2004] (a) 90 (h) 75
Directions (Q. 6 and 7): What number will replace the question (c) 135 (@ 51
mark (?) in these questions: [Based on MAT, 2001]
. 3 2 6 2 2 i 14, Find the next number:;
6 56 9 2 20 0 2743, 2198, 1729, 1332,
(@) 0 )3 (@) 1015 (b) 1001
(¢) § (c) 7 (c) 999 (d) 317
|Based on MAT, 2004] |Based on FMS (Delhi), 2004]
Fs 2 3 2 10 12 15. Find the next number:

1
2 3 12 10 16 13

-1, 3, 15, 105, 945, 10395,?

]

{ JI5 2 1 ? {i;’)} “24 (a) 145535 {b) 135135
o i

o 3 (c) —145535 (d) —135135

|Based on MAT, 2004]
8. The missing number in the series 8, 24, 12, 36. 18, 54, —

|Based on FMS (Delhi), 2004]

. The first four numbers below form a series. Insert the

missing number at the end of the series from the given

157 .
(a) 27 (h) 108 options:
(c) 68 (d) 72 28, 33, 31, 36....
[Based on MAT, 2002] (a) 32 (b) 34
9. What is the next number in the series given below? (c) 38 {d) 40

2,5,9, 14,20 |Based on Narsee Manjee Inst. of Man. Studies, 2003]
(a) 25 (b) 26 17. Find the next number:
(¢) 27 (d) 28 999, 730, 511, 344,215, 7
|Based on MAT, 2000] (a) 103 (b) 104
10. Complete the series: (c) 125 (d) 126

10, 18, 34, 77, 130, 258

[Based on FMS (Delhi), 2003]
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|
|
|
| 18. Find the next number:
| 1,3, 15, 105, 9452
: (@) 9995 (b) 10395
0 (e) 956 (d) 19395
i |Based an FMS (Delhi), 2003]
| Directions (Q. 19 to 21): In each of these questions, a number
| series is given. After the series, a number is given followed by (a),
| (D), (), (d) and (e). You have to complete the series starting with
| the number given following the sequence of the given series io
] answer these questions:
| 19 3 10 26 &3 336 1683
: 7@ B © @ @
) What will come in place of (5)?
| (a) 32 (h) 30
| (c) 34 (d) 36
| () None of these [Based on IRMA, 2002
|

20, 4 2 4 7 1.5 235
|
| 6 (@ @B (© (@ (e
| What will come in place of (¢) ?
| (@) 8.5 (b) 9.5
| (c) 8 (d) 9
| (¢) None of these [Based on IRMA, 2002]
|

21. 3 4 16 75 364 1945
|
| L (@ () (& (d (e
| What will come in place of (c)?
| (@) 72 (2) 63
| (e) 66 (d) 69
i (e) None of these [Based on IRMA, 2002]
: 22. 48, 24,72, 36, 108, 7

(@) 115 (h) 110

| (¢) 121 (d) 54
| [Based on MAT, 2008]
! 23.7,9,13,21,37, 7
| (@) 58 (b) 63
: {c) 69 (d) 72
] 24. 36, 28.24,22,7
| {a) 18 (h) 19
| (c) 21 (d) 22
| 25. 0.4, 18.48,7, 180
! (@) 58 (h) 68
: (c) 84 (d) 100
| 26. 987:IHG :: 654:7
| (a) FDE (b) FED
| (¢) EFD (d) DEF
|
|
|

7.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

24:126 :: 48:7

(a) 433

(b) 192

(c) 240

(d) 344

1:8 2 27:7

(a) 37 (b) 47
(c) 57 (d) 64

Find the wrong number in the series:
6,9, 15,22, 51,99

(a) 99 (h) 51
(c) 22 (d) 15

8, 15, 36,99, 288, ...
(a) 368
(b) 676
(c) 855
(d) 908

4,196, 16, 169, 7, 144, 64

(a) 21 (b) 81

(c) 36 (d) 32

Find out the questioned number. 6:5:: 8:7
(a) 2 (b) 4

(c) 6 (d) 10

5,21,69,213,645,__ 7
(a) 1670

(b) 1941

(c) 720

(d) 1320

121, 144, 289, 324, 529, 576, __?
(a) 961

() 841

() 900

(d) 729

14,19,29,49,89, _ ?

(a) 139 (b) 149
(c) 159 (d) 169

34,18, 10,7

(a) 8 (b) 5
() 7 (d) 6
9,8.10,16, 11, 72,12, 64

(a) 28 (h) 36
(c) 25 (d) 32
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39.

40.

41.

42.

44,

45,

46.

47.

. 7.8, 18,57, 7

(a) 232

(b) 228

(¢) 234

(d) 226

(e) None of these
7,.11,19,35.9
(a) 71

(c) 65

(e) None of these

(b) 69
(d) 73

5, 11,23,7,95
(a) 45

(c) 47

() None of these

(bh) 49
(d) 46

17, 22, 52, 165, 7
(a) 648
(c) 334
(e) None of these

(b) 468
(d) 668

Find the value of x in the series 2, 6, 30, 210, x, 30030, ...
(a) 2310 (b) 1890
(¢) 2520 () 2730

Directions (Q. 43 to 47): In each of these questions, one term in
the given number series is wrong. Find out the wrong term.

. 142 119 100 B3 65 59 52

(a) 65 (b)Y 100
(c) 59 (d) 119
{¢) None of these

812244672 108 152

(a) 12 (b) 24
(c) 46 (d) 72
(e) None of these

1325405779 103 130

(a) 25 (h) 40
(c) 57 (d) 79
{e) None of these

210 18 54 162 486 1458

(@) 18 (b) 54
(e) 162 (d) 10

(e) None of these

850 600 550 500 475 462.5 456.25
(@) 600 (b) 550
(¢) 500 (d) 462.5

(e¢) None of these

48.

49.

1212 18 36 90 270 ?
(a) 945
(¢) 1080

{e) None of these

(b) 810
(d) 1215

1015 508 255 129 66.5 7 20.875
(@) 34.50

(b) 35

(¢) 35.30

(d) 35.75

(¢) None of these

. 892063256 12857

(@) 6430
(b) 7450
(c) 7716
(d) 7746

() None of these

. 980 484 236 112507 3.5

(@) 25
(c) 21

() None of these

(b) 17
(d) 29

. The first three numbers in a series are — 3, 0, 3, the 10th

number in the series will be:
(a) 18 (b) 21
(c) 24 (d) 27
[Based on MAT (Sept), 2007]

. Four different integers form an increasing AP If one of

these numbers is equal to the sum of the squares of the
other three numbers, then the numbers are:

(a) -2,-1,0,1
(b) 0,1,2,3
(e) -1,0,1,2
(d) None of these
[Based on MAT (Dec), 2006]

. The missing number in the series 8, 24, 12, 36, 18, 54, ...

Is:
(a) 27 (h) 108
(c) 68 (d) 72

|Based on MAT (May), 2002]

. What is the next number in the series given below?

53. 48, 50, 50, 47

(a) 51 (b) 46
(c) 53 (d) 52
[Based on MAT (Dec), 2000]
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56.

58.

60.

61.

62.

What is the next number in the series given below?
2,5,9,14,20
(a) 25
(c) 27

(b) 26

(d) 28
|Based on MAT (Dec), 2000]

. In the following number series there is a wrong number.

Find out that number.
56, 72,90, 108, 132
(b) 132
(d) None of these
[Based on MAT, 1999]

(a) 72
{¢) 108

What should come in place of the question mark in the
following series?
0,1,7, 64,325

b 12

(d) 32

(@) 15
() 36
[Based on MAT, 1999]

. The next number of the sequence 5, 25, 50, 250, 500, ... is:

(a) 2500
(¢) 1000

(h) 1250
(d) 250
[Based on MAT, 1999]

What is the next number in the series given be low?

2,5,9,14,20
(a) 25 (b) 26
(e) 27 (d) 28
[Based on MAT, 2000
What is the next number in the series given below?

53, 48, 50, 50, 47
(b) 46
(d) 52

(a) 51
(c) 53
[Based on MAT, 2000]
Insert the missing number:
4,—-8,16,—32, 64, (...}
(b) —128
(d) —192
|Based on FMS (MS), 2006]

(a) 128
(c) 192

. The next 3 terms of the series 121143165 are:

(a) 789
(c) 187

(b) 246
(d) 209
|Based on XAT, 2006]

. The next three terms of the series 814265098 are:

(@) 386
(c) 943

(b) 194
{d) 650
|Based on XAT, 2006]

. The next three terms of the series 813213246 are:

(a) 74
(c) 54

(h) 98
(d) 63
|Based on XAT, 2006]

66.

67.

68.

69.

The next three terms of the series 28204492188 are:

(a) 299
(b) 436
(c) 380
(d) 456
|Based on XAT, 2006]
The next three terms of the series 137153163 are:
(a) 786 (b) 524
(e) 127 (d) 611
|Based on XAT, 2006]
The next three terms of the series 13102164129 are:
(a) 778 (b) 612
(c) 542 (d) 388
|Based on XAT, 2006]
The next three terms of the series 151620294 are:
(a) 436
(b) 570
(c) 287
(d) 698

[Based on XAT, 2006]

Directions (Q. 70 to 79): In each of these guestions, one term in
the given number series is wrong. Find out the wrong term.

70. 484 240 120 57 26.5 11.25 3.625

71.

72,

73.

(a) 240

(h) 120

(c) 57

(d) 26.5

(e) 11.25
351343176891 5353
(a) 5

(c) 43

(e) 891
67164190154 292
(a) 7

(c) 41

(e) 154

571657244 1245 7506
(@) 7

(c) 57

(e) 1245

(h) 13
(d) 176

(b) 16
(d) 90

(b) 16
(d) 244

74. 42.53.56.515.541.25126.75

75.

(a) 2.5

() 6.5

(e) 41.25
323437466287 123
(a) 34

(c) 62

(¢) 46

(b) 3.5
(d) 15.5

(b) 37
(d) 87
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77.

78.

79.

80.

81.

82.

83.

84.

. 71840 106 183 282 403

(a) 18 (b) 282
(¢) 40 (d) 106
(e) 183

850 843 829 BO8 788 745 703

(a) 843

(b) 829

{¢) 808

(d) 788

(e) 745

33321 465 537 590 600

(@) 321

(h) 465

(¢) 573

(d) 537

() 590

3747526787112 142

(a) 47 (b) 52
(c) 67 (d) 87
(e) 112

586 587 586 581 5707 522

(a) 545 (b) 543
(¢) 551 (d) 557
{(e) None of these

64 546949 74 447

(a) 89 () 69
(c) 59 (d) 99
() None of these

4000 2008 10127 265 140.5 78.25
(@) 506

(b) 514

(c) 520

(d) 512

(¢) None of these
551575724725 51975

(a) 520

(h) 450

(c) 525

(d) 300

(e) None of these

52262639 787 585

(@) 195 (b) 156
{¢) 234 (d) 117
(e) None of these

85.

86.

87.

88.

89.

90.

91.

92.

93.

72046 98 2027
(a) 420

(b) 410

(c) 310

(d) 320

(¢) None of these
210 209 213 186 2027
(«) 138

(b) 77

(c) 177

(d) 327

{¢) None of these

27 3871 126 2037

(a) 212 (b) 202
(c) 301 (d) 312
(¢) None of these

435 354 282 219 1657

(a) 103

(») 112

() 120

(@) 130

(¢) None of these

4200369 513 6347

(a) 788

(b) 715

(e) 734

(d) 755

(e) None of these

8111747 128 371 1100

(a) 11 (b) 47
(c) 17 (d) 371
(e) 128

15133161 125253

(a) 1 (b) 5
(c) 31 (d) 61
(e) 125

325 314 288 247 191?

(a) 126 (b) 116
(c) 130 (d) 120

(e¢) None of these

4546 70 1417 1061.5

(a) 353 (b) 353.5
(c) 3525 (d) 352
(e) None of these
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94.

96.

97.

98.

99.

100.

101.

102.

103.

104.

620 632 608 644 5967
(@) 536

(¢) 656

(¢) None of these

. 152540657 170

(a) 115
(c) 105
{e) None of these

(b) 556
(d) 646

() 90
(d) 120

120 3207 2070 5195 13007.5

{a) 800

{c) 850

(e) None of these
5126294286217.5
(a) 29

(c) 86

(e) None of these

4724 196 5488 1075648
(a) 24

(b) 1075648

(c) 196

(d) 5488

(e) None of these

(h) 920
(d) 900

(b) 217.5
(d) 42
[Based on IRMA, 2005]

|Based on IRMA, 2005]

288 432 648 972 1456 2187
(a) 2187 (b) 648
(c) 1456 (d) 972

(e) None of these

1235136 677 4010 28045
(a) 4010

(e) 136

(e) None of these

93 309 434 498 521 533
(a) 533

(c) 434

() None of these

333767717 781 BOR
(a) 486

(c) 493

(e) None of these

112057244 11157
(@) 4371

(¢) 3246

(e) None of these

896 515 2084 6267 ?
(a) 12542

(c) 10495

(e) None of these

[Based on IRMA, 2005]

(h) 677
(d) 28045
[Based on IRMA, 2005]

(b) 498
(d) 309
[Based on IRMA, 2005]

(h) 621
(d) 592
|Based on IRMA, 2006]

(b) 6684
(d) 5148
[Based on TRMA, 2006]

(b) 9863
(d) 8916
|Based on IRMA, 2006]

105.

106.

107.

108.

109.

110.

111.

112.

113.

114,

96 48 72 180 ? 2835

(a) 915
(c) 630
(e) None of these

8371 1547379 604

(a) 242

(h) 205

(c) 308

(d) 196

(e) None of these
352881131297
(a) 128

(c) 133

(d) None of these
2387112565
(a) 36

(c) 27

(d) None of these
64823 7385.25
(a) 84.5

(b) 73

(c) 78.5

(d) 82

(e) None of these

86421651271728

(a) 729
(k) 1331

(c) 684

(d) 1000

(¢) None of these
511321084447
(a) 1780

(b) 2230

(c) 1784

(d) 2225

(¢) None of these
9111573971
(a) 29

() 21

{¢) None of these
781221762
(a) 42

(c) 48

(¢) None of these
5616572447
(a) 1225

(c) 964

(¢) None of these

(h) 584

(d) 762
[Based on IRMA, 2006]

[Based on IRMA, 2006]

(b) 142
(d) 145

(b) 14
(d) 45

(b) 23
(d) 27

(b) 51
(d) 35

(b) 992
(d) 1245
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116.

117.

118.

119.

120.

121.

122.

124,

. 3199739172359

(a) 1084

(b) 1567

() 1177

(d) 1958

(e) None of these

848 422 208 100 45 ?

(a) 16.5 (b) 18
(c) 22.5 (d) 24
(e) None of these

7.5 47.5 87.5 157.5 247.5 357.5 487.5

(a) 357.5 (k) 87.5

(¢) 157.5 ()15

(e) 47.5

1500 1581 1664 1749 1833 1925 2016
(a) 1581

(b) 1664

(c) 1833

(d) 1925

(e) 1749

1331 2197 3375 4914 6859 9261 12167
(@) 4914 (h) 6859
(c) 9261 (d) 2197

(e) 12167

131621 27 39 52 69
(a) 21 (h) 39
(e) 27 (d) 52
(e) 16
6691 120 153 190 233 276
(a) 120 (b) 233
(c) 153 (d) 276
(e) 190
28267242
(a) 78 (b) 72
() 82 (d) 84
{e) None of these

.34127196
(a) 45 (b) 40
(c) 41 (d) 49
() None of these
917765129
(a) 32 (b) 24
(¢) 35 (d) 33

(e) None of these

126.

127.

128.

129.

130.

132.

133.

. 71374997
(a) 27 (b) 25
(c) 23 (d) 29
{e) None of these
53676475
(a) 15 (b) 15.5
(c) 17.5 (d) 17.25

(¢) None of these

12 12 18 45 180 1170?
(«) 12285

(b) 10530

(c) 11700

(d) 12870

(e) 7605

444 467 513 582 674 7897

(a) 950 (b) 904
(c) 927 (d) 881
(e) 973

116 81 256 625 12967

(a) 4096

(b) 2401

(¢) 1764

(d) 3136

(¢) 6561

23 25 53 163 657 32917
(a) 16461

(b) 13169

(c) 9877

(d) 23045

(e) 19753

. 13 13 65 585 7605 1292857
(a) 2456415

(b) 2235675

(c) 2980565

(d) 2714985

(e) 2197845

649.6875 1299.375 866.25 346.5 99 227
(a) 4 (b) 7

() 10 (d) 12

(e) None of these

3016 108897

(a) 12.75 (b) 13

(c) 14 (d) 105

(e) None of theses
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135.

137.

138.

139.

140.

141.

142.

.10 1863 253 1137 59017

(a) 39754

(h) 35749

(c) 37594

(d) 35794

(e) None of these

1126 58 124 258 5287

(@) 1020

(b) 1135

(¢) 1285

(d) 1340

{e) None of these

. 738 765 819 900 1008 11437

(a) 1445 (h) 1565
(c) 1305 (d) 1275
(e) None of these

9050 5675 3478 2147 1418 1077 950
(a) 3478

(k) 1418

(c) 5675

(d) 2147

(e) 1077

712 40222 1742 17390 208608
(a) 7 (b) 12
(¢) 40 (d) 1742
(e) 208608

691 584 2935 11756 35277 70558
(@) 91 (b) 70558
(c) 584 (d) 2935
(e) 35277

14252563125 46656 823543

(a) 3125

(b) 823543

(¢) 46656

(d) 25

(e) 256

8424 4212 2106 1051 526.5 263.25 131.625
(a) 131.625

(b) 1051

(c) 4212

(d) 8424

(e) 263.25

451238 160 805 4836

(a) 12 (b) 160
(c) 38 (d) 805
(e) None of these

. 3716325693 142

144,

145.

146.

147.

148.

149.

150

b

(a) 56 (b) 16
(e) 32 ) 7
(e) None of these

1118 29 42 59 80 101
(a) 42 (b) 18
(c) 29 (d) 59

(¢) None of these

29321054362159 13182

(a) 436 (b) 2195
(c) 9 (d) 32
(e) None of these

55495 3465 17325 34650 51975
(a) 495

(B) 34650

(c) 55

(d) 17325

(e¢) None of these

1752 158 477 74310

(a) 1433

(b) 1432

(c) 1435

(d) 1434

() None of these

3227673 2696 8093

(a) 133

(b) 155

(c) 156

(d) 134

(e) None of these

613387 532 2675

(@) 129

(b) 123

(c) 172

(d) 164

(e) None of these
286142734167

(a) 66 (b) 72
(c) 64 (d) 74

(e) None of these

. 17971653590

() 5 (b) 15
(c) 10 (d) 20

(e) None of these
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153.

154,

160.

. 051843 84 1457

(@) 220
{e) 260

(e) None of these

10 17 48 165 688 3475 7
(@) 27584

(b) 25670

(e) 21369

(d) 20892

(e) None of these

1 3 24 360 8640 302400 ?
(@) 14525100

(h) 154152000

(e) 14515200

(d) 15425100

() None of these

. 121432102 416 2090 ?

(a) 15522
(b) 12552
(e) 13525
(d) 17552
(e) None of these

(a) 4.375

(b) 3.2375

(¢) 4.6275

(d) 3.575

(e) None of these

. 1525401307 2560

(@) 500
(¢) 490
{e) None of these

. 1869448257775

(a) 13.5
(c) 12.5

{¢) None of these

. 124 112 176 420 1488 ?

(a) 8568
(¢) 5712

(e) None of these

384 3813723452647
(a) 23

(c) 43

(e) None of these

(b) 240
(d) 280

. 101515 12.59.375 6.5625 7

(b) 520
(d) 480

(b) 14.8
(d) 14

(b) 7140
(d) 6150

(b) 25
(d) 24

161.

162.

163.

164.

165.

166.

167.

168.

169.

282 286 302 7 402 502

(a) 366

(b) 318

(c) 326

(d) 338

(¢) None of these

2187 729243812797

(a) 36 (b) 3
(c) 18 (d) 6
(e) 12

522 1235 2661 4800 7652 11217 ?
(a) 15495

(h) 16208

(c) 14782

(d) 16921

(e) 14069

51975 9450 2100 600 240 160 7
(a) 80 (b) 120
(c) 320 () 240
(e) 300

41848 100 180294 ?
(a) 416
(k) 480
(=) 512
(d) 384
(e) 448

626 134 666 3334 16666 7
(a) 84344
(b) 83443
(c) 84434
(d) 83334
(¢) 83344

303565100 1652657

(2) 270 (b) 520
(c) 430 (d) 395
(e) None of these

35771317

(a) 9 (b) 10
(c) 11 (d) 8
(e) None of these

16171518 147

(a) 10 (b) 17
(c) 18 (4) 20
(e) None of these
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170.

171.

172.

173.

174,

176.

177.

178.

312525674 1
(a) 27

(e) 64

(e) None of these
23618 1087
(@) 126

(h) 1944

(e) 648

(d) 756

(e) None of these
91527 51 99?2
(a) 165

(h) 195

() 180

(d) 190

{e) None of these
13213658 87?7
(a) 122

(b) 128

{¢) 133

(d) 123

(e) None of these
791945952
(@) 150

(e) 145

(¢) None of these

. 14152332967

(a) 121

(c) 152

(¢) None of these
2024 36 56 84 7
(@) 116

() 120

(¢) None of these
117 389 525 593 627 (?)
(a) 654

(h) 640

(c) 634

(d) 630

(e) None of these
7112351103 (?7)
(«) 186

{¢) 185

(e) None of these

(b) 128
(d) 32

(b) 160
(d) 177

(h) 124
(d) 111

(b) 124
(d) 128

(b) 188
(d) 187

179.

180.

181.

182.

183.

184.

186.

187.

182749 84 132 (?7)

(a) 190 (b) 183
(c) 180 (d) 193
{e) None of these

33436599 145(7)

(a) 201

(b) 203

(c) 205

(d) 211

(e) None of these

655439 314 250 223 ()

(a) 205

(h) 210

(c) 195

(d) 190

(¢) None of these

15213977 143 (7)

(a) 243

(b) 240

(c) 253

(d) 245

(e) None of these

33395787 129(?)

(a) 183

b 177

(¢) 189

(d) 199

(e) None of these

151983 119 631 (2)

(a) 731 (b) 693
(c) 712 (d) 683
(¢) None of these

. 19264068 124 ()

(a) 246 (b) 238
(c) 236 (d) 256
{e¢) None of these

4369 58 84 73 (7)

(a) 62 (h) 98
(c) 109 () 63
(e) None of these
2.5471014.52026.5

(@) 8 (b) 7.5
(©) 6 (d) 5.5
(¢) None of these
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188.

189.

190.

191.

192.

193.

194.

195.

451239 160 805 7

(a) 4836

(h) 3224

(c) 5642

(d) 4030

(e) None of these

8 108 189 253 302 ? 363
(@) 351

(b) 327

(¢) 338

(d) 311

(e) None of these
248217 1881657129 116

(a) 144 (b) 1306
(c) 134 (d) 146
(e) None of these

3153975123 1837

(a) 255 (b) 218
(¢) 243 (d) 225
{e) None of these

12 30 120 460 1368 2730

16 (@) (b)) (o) (d) (e
What will come in place of (d)?
(a) 1384 (b) 2642
(c) 2808 (d) 1988

{¢) None of these
[Based on IRMA, 2009]

154 462 231 693 346.51039.5
276 (a) (b)) (e) (d) (e)
What will come in place of (e)?
{a) 1746 (b) 621
(c) 1242 (d) 983

(¢) None of these
[Based on IRMA, 2009]

T 91 1001 700735035105105
145 (a) (b) (o) (d) (e
What will come in place of (c)?
(@) 21132.5 (b) 14514.5
(¢) 20020.5 (d) 13864.5

(e¢) None of these
[Based on IRMA, 2009]

582 574 601 537 662 446
2004 (a) () (&) (d) (e)
What will come in place of (d)?
(a) 2084 (h) 68
(c) 174 (d) 331

() None of these
|Based on IRMA, 2009]

196.

197.

198.

199.

200.

201.

202.

203.

204.

85 43 44 675 137 345
125 (a) (B) (o) (d) (e
What will come in place of (¢)?
(a) 86 (b) 107.5
(¢) 1125 (d) 97.5
{e) None of these
[Based on IRMA, 2009]

Consider the series (1), (2, 3) (4. 5, 6), (7, 8.9, 10). ...
Find the sum of numbers in fiftieth such bracket,
(@) 62525 (b) 1225
(c) 12525 (d) 13225
[Based on ATMA, 2005]
1749343 ()
(@) 16807
(c) 2058
{e) None of these

(b) 1227
(d) 2401

13203978 145(7)
(a) 234

(c) 236

(e) None of these

(b) 244
(d) 248

12 35 81 173 357 (7)
(a) 725

(c) 726

(e) None of these

3 100297 594 991 (7)
(a) 1489

(h) 1479

(c) 1478

(d) 1498

{e) None of these

112 119 140 175 224(7)
(a) 277

(¢) 287

(¢) None of these
212748 75123 198 323
(a) 198

() 75

(¢) None of these

(b) 715
(d) 736

(b) 276
(d) 266

(b) 323
(d) 27

|Based on NMAT, 2008]

32 52 87 146.5 245.75 403.125 653.6875
(a) 52

(b) 87

(c) 245.75

(d) 403.125

(¢) None of these
|Based on NMAT, 2008]
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206.

207.

208.

209.

210.

211.

212.

213.

. 16173299392 1960 11784
(a) 17 (b) 99
(c) 11784 (d) 1960
(e) None of these
|Based on NMAT, 2008]

5018346005 144
(a) 144 (b) 95
(c) 18 (d) 9

{e) None of these
[Based on NMAT, 2008

3654 81 120.5 182.25 273.375 410.0625
(@) 54 (h) 81
(c) 120.5 (d) 273.375
{¢) None of these
|Based on NMAT, 2008]

410 40 190 940 ? 23440
(a) 4690

(h) 2930

(¢) 5140

(d) 3680

(¢) None of these

4000 2008 1012 7 265 140.5 78.25
(@) 506

(h) 514

(c) 520

(d) 512

(e) None of these
7459752.5160.5

(a) 32 (h) 16
(c) 14 (d) 20
(e) None of these

55490 1151311407

(a) 149 (h) 146
(e) 142 (d) 152
(e) None of these

642 71260 5040 15120 30240
(@) 546

(b) 424

(c) 252

(d) 328

(e) None of these

1316223351 (7)

(a) 89 (b) 78
(¢) 102 (d) 69
{e) None of these

214.

216.

217.

218.

219.

220.

221.

222,

223.

395278 117169 (1)
(a) 246

(b) 182

(c) 234

(d) 256

(e) None of these

. 656432 320264 236 (7)

(a) 222

(b) 229

(¢) 232

(d) 223

(e) None of these

62 87 187412 812 (1)

(@) 1012

(b) 1437

(c) 1337

(d) 1457

(e¢) None of these

7824 105361 (7)

{a) 986

(b) 617

(c) 486

(d) 1657

(¢) None of these

96271854 7415 22244

(a) 433 (b) 309
(c) 406 (d) 371
() None of these

4824607224

(a) 178 (h) 96
(c) 109 (d) 141
(e) None of these

8000 1600 320 64 12.8 7

(a) 2.56 (b) 3.5
(©) 3.2 (d) 2.98%
(¢) None of these

691527517

(a) 84 (b) 99
{c) 123 (d) 75

{¢) None of these

TR187232 1165

(a) 84 (b) 42
(c) 57 (d) 36
(e) None of these

9194083 ? 345 696

(@) 162 (b) 170
(c) 175 (d) 166
(e) None of these
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]
|
|
|
|
|
|
|
|
|
|
|
]
|
|
]
|
|
|
|
|
|
]
|
|
|
|

. (B)
14.
27.
40,
53.
. (¢)

79.

92,
105,
118.
131.
144,
157,
170.
183.
196.
209.
222.

(e)
(d)
(c)
(c)

(a)
()
(c)
(c)
(d)
(e)
(e)
(a)
(a)
(d)
(h)
(c)

1. (h) The sequence in the given series is + 0, + 12, + 24, +
48, + 96, + 192. Hence the number 48 must be replaced

2. (c¢) Series I: 11 20 38 74

2.
15.
28.
41.
54.
67.
80.
93.

106,
119.
132.
145.
158.
171.
184.
197.
210.
223.

(e)
(d)
(d)
(d)
(a)
(e)
(c)
(B)
(e)
(a)
(a)
(d)
(a)
(b)
(a)
(a)
(d)
(k)

by 50.

. (b)
16.
29.
42,
55.
68.
§1.
94.

107,

120.

133.

146.

159.

172,

185.

198.

211.

(a)
(c)
(a)
(d)

(e)
(c)
(e)
(c)
()
(b)
(b)
(b)
()
(d)
(e)

4.
17.
30.
43.
. (c)

69.

82.

95.
108.
121.
134.
147.
160.
173.
186.
199.
212,

(b)
(d)
(c)
(a)

(b)
(b)
(c)
(<)
(b)
(b)
(€)
(e)
(d)
(e)

(©)

18.
3l
44,
57.
70.
83.
96.
109,
122.
135.
148.
161,
174.
187.
200.
213.

Answer Keys

(d)
(h)
(c)
(c)
(c)
(h)
(c)
(e)
(a)
(e)
(e)

(d)
(d)
(e)
(a)
(h)

. (€)
19.
32.
45,
58.
T1.
84.
97.
110.
123.
136.
149.
162,
175.
188.
201.
214.

(o)
(c)
()
(a)
(d)
()
(a)
()
(a)
(c)
()
(b)
(a)
(a)
(e)
(c)

20.
33.
46.
59,
72.
85.
98.
111,
124,
137.
150.
163,
176.
189.
202.
215,

wi{e)

(a)
(b)
(d)
(a)
(e)
(b)
(a)
(b)
(d)
(e)
(e)
(a)
(c)
(c)
(c)
(a)

112,
125.
138.
151.
164.
177.
190.
203.
216.

DirFicuLty LEVEL-1

13.
26.
39,
52.
(k) 65.
(d) T78.
(c) 91.
(h) 104,
(@) 117,
(h) 130.
(c) 143,
(h) 156.
(h) 169,
(e) 182.
(a) 195,
(c) 208.
(a) 221.

10.
23.
36.
49,
62.
78.
88.
101.
114,
127.
140.
153.
166,
179.
192.
205.
218.

()
(d)
(a)
(e)

(d) 11.
(e) 24.
(d) 37.
(d) 50,
(h) 63.
(a) 7T6.
() 89.
(e) 102.
(d) 115,
(a) 128.
() 141,
(d) 154.
() 167.
(d) 180.
(e) 193.
() 206.
() 219.

(b 12.
(¢) 24
(d) 38.
(c) 51.
(c) 64.
(e) T77.
(c) 90.
(d) 103.
(c) 116.
(c) 129.
(b) 142,
(c) 155.
() 168.
(b) 181.
(e) 194.
(e) 207.
(e) 220.

8. (a)
21. (b)
34. (d)
47. (a)
60. (c)
73. (a)
86. (b)
99. (c)
(b)
()

9. (¢)
22. (e)
35, (d)
48. (a)
6l. (d)
4. (¢)
87. (e)
100. (b)
113, (e)
126. (c)
139. (¢)
152. (e)
165. (e)
178. (d)
191. (a)
204. (¢)
217. (@)

(c)
(b)
(€)
(<)
(d)
(e)
(€)
(@)
(e)
()
(a)
(a)
(e)
(e)
(a)
(@)
(&)

(¢)
(¢)
(e)

(b)
(b)

Explanatory Answers

DirricuLty LEvEL-1

The sequence in this series is X 2 - 2,

Series I1: 5 12 26 24
The sequence in this series is ¥ 2 + 2. Hence the

number 40 must be replaced by 38.

3. (b) The sequence in the given series is + 2, + 4, + 2, + 4,

+ 2, + 4. Therefore, 14 must be replaced by 18.

. (h) The terms of the given series are (T L

2 43325742 6042,

. (d) Here 2 must be replaced by 1 and 12 must be replaced

by 3.
Then, the sequence in the series will be + 4, + 8, +
12, + 16, + 20.

. (¢) Sum of the numbers in each column is a perfeci

square.

. (¢) Sum of the numbers in each column is a perfect

square.

8. (a) The sequence in the given series is x 2 + 2.

. {¢) The sequence in the given seriesis+3,+4,+5,+6,+7.

10.

11.

(d) The sequence in the given series is + 8, + 16, + 32,
+ 64, + 128.
(b) (6+2+3+2°-1=169-1= 168

(5+14243)F —1=121 —1=120
(G+5+44+2)72-1=196-1=195

. (b) The sequence in the given series is + 9, + 21, + 39,

+ 63. Therefore, the next number should be 138,

. (¢) The sequence in the given series is x 3.

. (¢) The sequence in the given series is — 545, — 469, —

397, — 333, because in the series 545, 469, 397, 333
the sequence is — 76, — 72, — 64.

. (d) The sequence in the given series is

X (=3), X (=5) X (-7), X (-9), X (~11), X (~13).

. (a) The sequence in the given series is+ 5, -2, + 5, - 2.

. (d) The terms of the given series are

100 1,98+ 1,8 1, 7P +1,68-1,5+1.

. (h) The sequence in the given series is X 3, X 5, % 7, x 9,

b o |

. (¢) The sequence in the given seriesisX 1 +7, X2 + 6, X

I+5. xd+4, x5+3.
~. The new series formed must be 7, 14, 34, 107....
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20.

21.

22.

23.

24,

26.

27.

28.

29.

30.

(@) The sequence in the given series is x l +1,x1+1,
X154+ 1,x2+1,x25+1 2

The new series formed must be 6, 4, 5, 8.5, 18, 46.

(h) The seckuence in the given series is x 1 + 12, %2+ 2%
x3+3,x4+4%, x5+5°,

-~ The new series must be 1, 2, 12, 63, 316,...
(e) 48,24, 72,36, 108, 2 + 2, x 3 (series)
48,48 +2=24,24x3=72,72+3
=36,36x3=108

108 +2 =54
(c)
7 9 13 z 37 69
R S | S | S
+2 +4 +8 +16 +32
S | S | S | B
*2 E3) ) )
(e)
36 28 24 2 21
S & N S £
-8 —4 -2 -1
(d)
0 4 18 45 100 180
O | S| S | S |
+4  +14 +30  +52 +80
| S | S | S
+10  +16 422 +28
S |
+6 +6 +6
® 9 8 7
I 41
I H G
Likewise,
6 5 4
+olod
F E D

(d) 52 - 1=24:5+1=126=
7P 1=48:7"+1=2344
@ayr=L@'=8:
B3y =27:(4y =64

()
27
6 9 15 22 51 99
L+l L L [ ¢4
+3 46 +12 424 +48
22 should be replaced by 27.
() 8 +7 S15 +21 16 +od g
g9 *189 oo #5617 oss

The difference between the consecutive term
keeps on multiplying by 3.

3l (¢) 22=4,4=16,82 =64
Consider the alternative term
P=4,4"=16,7=782=64
Hence ? has to be replaced by (6)° = 36

32. (¢) 6—
g

5=1
=2
?1=2-8

[

6

n
@ |

-7
?
33. (b) 5,21,69, 213, 645
21-5=16
16 x3 =48
69 -21 =48
and, 48 %3 =144
213 - 69 =144
144 x 3 =432
645 -213 =432
432 x3 =1296
Likewise,
7—645 =1296
7 =1296 + 645
7 =1941

34. (d) 11x11 =121

12x12 =144
Difference =17 - 12 =5

17 %17 =289

18 18 =324
Difference =23 - 18=5

23 %23 =529

24 %24 =576

Likewise,
1-24=5
7=29

Hence, 20x29=729

35. (d) 19_14=5
29-19=10
49 -29 =20
89 -49 =40
Likewise,
-89 =80
?=80+89
?2=169

36. (d) 34, 18,10, ?
34-18=16
18-10=8
10-7=4

16+2=R
§+2=4
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Therefore, =
—]
—

37. (d)

2=4-10

|
Il
|
o

38. ()

l+1

*3+3

39. (e)

by ? =

40. (¢)
w241

#2410

47 1=

41. (d)

¥+ §—

2+ § -

B =

EEREE o

64

42. (a)

43, (a)

44. (c)

45. (o)

46. (d)

47. (a)

48. (a)

49, (d)

50, (c)

2 6 30 210 2310 30030
L+ 4+ L 41+ 4
%3 <5 «7 11 13
70
142 119 100 83 65 59 52
I & I I N & M N
- —19 I 7
So, wrong number = 65
Correct number =83 - 13 =70
36
8 12 24 46 72 108 216
L ¢ %[ | 4L 4 ¢
<15 =2 %15 2 “15 2
So, wrong number = 46
Correct number =24 x 1.5 =136
58
13 25 H) 57 79 103 130
L [ [ ] 4] 4] 4
+12 +15 +18 21 +24 +27

So, wrong number = 57
Correct number =40+ 18 = 58

b

2 10 18 54 162 486 1458
I

| . S 5 O
3 x3 %3 =3 <3 3
So, wrong number = 10
Correct number =2x3 =6
650
850 600 550 500 475 462.5 456.25
L4 #L 4| 41 ¢4 ¢4
-200  —100 -50 25 —125 625
So, wrong number = 600
Correct number = 850 — 200 = 650
945
12 12 18 36 90 270 7
| S S | .
<1 x5 x2 x2,3 =3 3.5
35,75
1015 508 255 129 66.5 ? 20.875
| § 41 $ | $ $ | 4
205 +24] 22415 242 22425 1243
7716
8 9 20 63 256 1285 ?
L 4L 4] ] 4] 4] 4



Gh b Gp Gb b Gb Gb G GD GD G Gh G Gh Gh G Gh G @b Gh G Gh G G Gh G Gh G @b Gh @GP Gh @b @b Gh G Gh G Gh Gh G Gh G Gh Gh GP Gh G G) b GP Gb GD GP G aP a» an o

58.

59.
60.

61.

62.
63.

51. (e)
19
980 484 236 112 50 ? 35
(T I S Y S Y
+2=f +2=6 +2=b +2-6 +2=6 +2-6
52. (¢) a=—3,d=3
Tp=a+(10-1)xd
Tg=—-3+9%x3=24
53. (¢) By hit and trial or common sense,
2= (12 + (02 + (1)
54. (a) 8,24, 12, 36, 18, 54
8 24 12 36 18 54 27
| I i I [ 1 |
x3 +2 w3 =2 %3 =2
Hence, 27 will come in the blank space.
55. (d) 53,48, 50, 50,47, ...

The above series can be splitted into two series one
in ascending order and other in descending order

53 50 47 . 48 50 52
v andotheris —0 o
= =3 +2 42
Hence, 52 will be the next number.
56. (¢)
2 5 9 14 20 27
R L NS AN
+3 4 5 +6  +7
Hence, the next number of the series will be 27.
57. (¢) The sequence in the given series is + 16, + 18, + 20, +

22. Hence the number 108 must be replaced by 110.
(@) The sequence in the given series is
X1+1,%x2+2, x3+3 x4+4 x5+5.
(@) The sequence in the given seriesis X 5, X2, X 5, X2,X 5.
{¢) The sequence in the given series is + 3, + 4, + 5, + 6,
+ 7.

() The numbers at even places form an AP, e.g., 48, 50,
525

(h) 64 x (-2)=—128
(¢) The given series is | 2| 143 165
The series 1s of the form 121 + 143+ 165 + ...
It is in AP with common difference 22.
Hence, the next term is 165+ 22 = 187
14 =(8%x2)-2
26=(14x2)-2
50=(26x2)-2
Hence, the next term must be (98 x 2) -2 =194,

+ (d) 813213246

The difference between the consecutive terms
forms a seriesof S+ 8+ 11+ 14 + ...

8. (8+5),(13+8), (21 +11), (32+14), ....
Hence, the next term must be 46 + 17 = 63,

66.

67.

68.

69.

70.

71.

72.

73.

74.

2,(2+6), {8 + 12), (20 + 24), (44 + 48), (92 + 96)
Hence, the next term must be 188 + 192 = 380.

[ T_15,31,631
L(x2)+1L,3x2)+ L (Tx2)+1,(15%2)
+1,31x2)+1

Hence, the next term must be (63 x 2)+ 1 = 127,
(d) 13 102 164 129
1,3, 10, 21, 64, 129, ...
L,(1x2)+1,(3x3)+1,(10x2)+1, (21 x3)
+1L(64=x2)+1,(129%3)+ 1
Hence, the last term is (129 x 3) + 1 = 38&.
(b) 15 16 20 294
15,15+ 1%, 16 + 22,20 + 32,29 + 42, 45 + 52
Hence, the next three terms must be 570.

(h)

118
484 240 120 57 265 1125 3.625
Ll 4L #L 4+ ¢ ¢

2= 23 w0 -2 3250 a2

Hence, wrong number is 120.

(d)

177
13 43 176 B91 5353

I_H_H_'IL_}L_H_*!

*+2 =243 =%3+4 =445 =546 =647

Hence, wrong number is 176.

(e)
171

6 7 16 41 90 154 292
I_H_H_H_H_H_{

+12 +32 +52 72 (g2 g2
Hence, wrong number is 154,
(a)
6
5 7 16 57 244 1245 7506

L L4 4L ¢ ¢

w12 %2427 %3437 xd 147 25452 up 257
Hence wrong number is 7.

()
6.75

4 25 35 65 155 412512675
L #1441 ¢ ¢
3

x2 42 . 5 .5 x343
Rk

X
%33

1 =1+
'7]|’ 7 i

o] s

T

Hence wrong number is 6.5.
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75.

76.

7.

78.

79.

80.

81.

82.

83.

84.

(@)
33
34
32 034 37 46 62 87 123

So, the wrong number is 34 which must be 33.

()
51
40
7 18 40 106 183 282 403
[aasnn d [sasndsoond [a-nd [o=nd

So, the wrong number is 40 which must be 51.

(d)
780
850 843 829 808 788 745 703

So, the wrong number is 788 which must be 780.

(e)
591
33 321 465 537 573 590 600

So, the wrong number is 590 which must be 591.

(a)
42
37 47 52 67 87 112 142

s pLosodLorch oo [ ash| o}

So, the wrong number is 47 which must be 42.

(©)
586 587 586 SRl 570 551 522

| -u+| o bl s h e d[ash] )

=1 -5 =11 -19 =29

U‘\_/‘UL/‘U

©
o4 54 69 49 T4 44 79
(T Y I I | I I

(b)

514
4000 2008 1012 5 265 1405 7825
| +2ves b [snesd |sn-ah | sz+5h [eah |=2+84

(c)
525
5 5 15 75 7 4725 51975

Lo dl o bl s b o b ot ah

(@)
195
52 % 26 39 78 7 585

[sos $ = b cas b 2 b asd| = b

85.

86.

87.

88.

89.

90.

91.

92.

93.

94.

(h)
410
7 20 46 98 202 B
[ con b a6 b sz ] o b | s2os b
[2 4] =2 4] = 4] ==}
(b
77
210 209 213 186 202 ?
Y 'f” -;—-H }Ian-fm
=17 (2 (=ap (ay (=5y¥
(e)
302
27 38 71 126 203 ?
[ nd] s ndl sk n=ndlqsak
(c)
120
435 354 282 219 165 ?
L | m 4] o $] s § s d
(o FL o b o F[ =}
(c)
734
4 200 369 513 634 i
| 16 *i +16% +| +144 +| +121 *| -IIIIJ*
(14 3 12y (¥ (10
()
20
8§ It 17 47 128 371 1100
[_‘H_H_'H_+ I_H_i
R T T S I T
nghl number = 11 + 37
=11+9=20
Wrong number is 17.
(c)
29
31 61 125 253
I_H_H_fL_f l_fl_a‘
+23 +34
Wrong number is 31.
Right number = 13 +2* =13 + 16 =29.
(d)
325 314 288 247 191 120
| 4| 26 b ¥ se 4| -m b
[ zomti=15 } ar=z6-15 ] somas-1s }| v1mso-1s ¢
()
45 46 70 141 3535 10615
s+ =15+ | 2+ d|=2514] =3+1 4
(©)

620 632 608 644 596 656
| iz A 24 4| s3e | s b weo o
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13007.5

95. (c)
105
15 25 40 65 ? 170
| 4| $ 4| 4
15+25 25+40 40+65  65+105
96. (e)
820
120 320 2 2070 5195
| x25+20 & [=25+204 |=25+204 | x25+204 [ x25+204
1 1 :
97. (a) SIlx—+— =26
2 2

26x14+1=27
27x1.5+1.5=42
Therefore, wrong number is 29.
98. (a) The given pattern is
4x7=128
7x28 =196
28 x 196 = 5488
196 x 5488 = 1075648
The wrong number is 24.

99, (¢) The given pattern is

288 x 2 =432
2
3

432 x — =648
2

648 x i =972
2

972 x % =1458

The wrong number is 1456,
100, (k) The given pattern is
12x3-1%35%4-22 136 x5-3%,

671 X6 — 42,4010 x T — 5%

Henee, the wrong number is 677.
101. (e) The given pattern is
93 + 6> =309
309 + 5° =434
434 + 4% =498
498 + 3% = 525
525+ 2% =533

Hence, the wrong number is 521.

102. (d) 333767 717 781 808
808 — 781 =27=733
781 -717 =64=4°

717-5 =717-125=592

104.

106.

107.

108.

109.

110.

111.

. ()

(a)

. (€)

(e)

(e)

(c)

(@)

(d)

(»

1Mx2-2=20
20x3 -3 =57
5Tx4-4=224
224x5-5=1115
1115 % 6 — 6 = 6690 — 6 = 6684

8xX6+48 =96

96 x 5435 =515
515x4+24 =2084
2084 x 3 + 15 = 6267
6267 % 2 +8 = 12542

96 % 0.5 =48
48x15=72
72x% 2.5 =180
180 x 3.5 =630

83+ 71 =154
71+ 154 =225
138
3 52 88 13 129 i
| 4| $| 4 4| 4
i 6 +5° 142 +3?
So, 138 is the answer.
27
2 3 8 ? 112 3635
| 4| § | 4 4| 4
w1+l x2+2  x3+43  xd4+4  x5+3
So, the answer is 27.
84.5
] 4 8 23 ? 385.25
| 4 4| 4 4| $
A05+1 ®15+2 %2543 =35+t4 H45+5
So, the answer is 84 5.
1000
8 64 216 512 7 1728
@y ) (6)° (8y oy 2y
So. the answer is 1000.
2230
5 11 12 108 444 ?

I 4 g 4 41 4

Al+1=6 x2+2x523+3x43 =4+4x3 =5+5=12

So, the answer is 2230.
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112.

113.

114.

115.

116.

117.

118.

119.

(b)

9 11 15 23 39 7
L 41 L8 41 i1 3

+2)" +H2t @) +2)! +H2)*

So, 23 will come at the place of question mark (?).

(e)

7 8 2 2 37 e
l $l 4 $ | f 4

S W2 3P H4)? (51

So, 37 will come at the place of question mark (?).

()
5 6 16 57 244 1245
l 41 $| $ | | 4

* 1 +12 %2422 %3432

%4447 5452
So, 1245 will come at the place of question mark (7).

(c)

3 19 97 391 1177 2359
| il $1 4| 11 4

641 x5+2 =4 +3 “3+4 D #35

So, 1177 will come at the place of question mark (?).

(a)

848 422 208 100 45 165
| $l 4| 41 41
1 1

So, 16.5 will come at the place of question mark (?).

(e)
375
7.5 475 875 1575 2475 3573 4875
l L I $ $ $ }

+30 H50 +T0 o0 L0 HI20

Right number = 7.5 + 30 =37.5

So, wrong number = 47.5.

(e)
1836
1500 1581 1664 1749 1833 1925 2016
| 4 i 41 t 1 $
-8l +83 +85 +87 +89 +01
Right number = 1836
So, wrong number = 1833,

(@)

4913
1331 2197 3375 4914 6859 9261 12167

to

ant ay' (15 amn’ 19y @y (23
Right number = (1 7)3 =4913

So, wrong number = 4914,

120.

121.

122.

124,

126.

127.

128.

(©
28
13 16 21 27 39 352 69

L4 4L #1 4] 4 ¢

*3 ! w11 =13 ®I7
Right number =21 +7=28
So, wrong number = 27,
(h)
231
66 91 120 153 190 233 276
L4 41 4| 4] 4] ¢

%25 %29 ®33 k3T x4l xdS
Right number = 190 + 4] =231
So, wrong number = 233,

(e)
80
2 8 26 g 272
L 4| 4 $ 4

x3+2 %342 x3+2 w3+

So, 80 will come at the place of question mark.

3. (a)

45
3 4 12 ? 196
L 4 4| 4| }

k1412 %2427 w343 wd+4l

Hence, the answer 1s 45.

(d)

33
9 17 ? 65 129
| 4| 4 4 4

®2—1 1-1 ®2—1 *2—1

Hence, the answer 15 33.

. (h)

X 2= |
Hence, the answer is 25,
(c)
17.5

5 3 6 7 6475
| 4| 4 il 4

¥ 05+05 *1LE+ 15 2 25+20F XF+ 15

Hence, the answer is 17.5,

(a)
1212 18 45 180 1170 12285

L+ 1 4| 4] [ ¢

sl %15 <23 x4 265 103
So, 12285 will come at the place of question mark.
(c)
444 467 513 582 674 TR9 927

L4141 4] 4 ¢

+23 +46 it +42 +115  +138

So, 927 will come at the place of question mark.

hendhedh ettt et e et i iy |

L o aon cop G CED CED GED GED GED GEHD GED GED GHD GED CGHD CHD GEHD GHD CHD GEHD GHD GHD CHD GHD GHD GHD GHP GEHD GHD GHD GHD GEHP GED GHD GHD GHD GHD GEHD GEHG GNP > am> o> o o



Gh b Gp Gb b Gb Gb G GD GD G Gh G Gh Gh G Gh G @b Gh G Gh G G Gh G Gh G @b Gh @GP Gh @b @b Gh G Gh G Gh Gh G Gh G Gh Gh GP Gh G G) b GP Gb GD GP G aP a» an o

129.

131.

133.

136.

137.

138.

(h) | 16 81 256 625 1296 2401
I ¢ 4 b 4
27?3 @ & 6

So, 2401 will come at the place of question mark.

. (e)

23 25 53 163 657 329119753
L 4L 4L 4 41 4 ¢

142 =243 2344 =445 =546 =647
So, 19753 will come at the place of question mark.
(d)
13 13 65 585 7605129285 2714985

L 4L 4L #L 41 4L ¢4

%5 =G =13 L |

So, 2714985 will come at the place of question mark.

. (a)

649.6875 1299.375 866.25 3465 99 22 4

| 4] 1 $ | L4 4
2 e

e ® i
5 '3 I

afre

£

(Y

®

silis

So, 4 will come at the place of question mark.

(d)
30 16 10 R B 9 105

L 4L [ 4L 4L 4 4

el eyl wlasicls
NPl Nt X t3 Xotd Kt Xt

So. 10.5 will come at the place of question mark.

. (b)

10 IR 63 253 1137 5901 35749

L #L 8L 4L 41 4 1

)1 +23 x342% %3443 2415 5465 %6473

So, 35749 will come at the place of question mark.

5. (e)

11 26 58 124 258 528 1070

L 4L [ #L 4L 4 ¢

€244 %246 248 x1410 x2+12 2414
So, 1070 will come at the place of question mark.

(e)
738 765 819 900 1008 1143 1305
L 4L # # ¢ 4L ¢4

427 454 481 <l08  +135 +I62
So, 1305 will come at the place of question mark.
(e)
1075

9050 5675 3478 2147 1418 1077 950
I il H ] 1 4 4

57 [Eix 9y 11y’ 13y {15y}

~. Hence, 1077 is wrong number.

(d) Tx2-2 =12
12 x4 -8 =40
40x 6 18 =222
222 x8-32=1742 — 1744
1744 % 10— 50 = 17390

17390 x 12 — 72 = 208608
Hence, 1742 is wrong number.

2 4 6
Here, 2=2%X —;8=4x —; 18=6%x —
2 2 2

32=8% 250 =10x 2; 2=12% 12
2 2 2
139. (¢)
582
6 91 584 2935 11756 35277 70558
[ 4l $ 4 il # $

(627)7 (914616 (58245)=5 (2035+4)=4 (11756+3)=3 (35277+2)=2

Hence, 584 is the wrong number.

140. (d)
27
1 4 25 256 3125 46656 823543
' 2P 3 (7 5y (61" i

Hence, 25 1s the wrong number.

141. (b)
1053
8424 4212 2106 1051 526.5 263.25 131.625
| il 4 41 4 4 4
2 +2 +2 2 +2 + 2
Henee, 1051 is the wrong number.
142. (¢)
39
4 &) 12 38 160 805 4836
I | 4 4| $1 4 4
x4 1 *2+2 B+3 md+4 w5es b

Hence, the wrong number is 38,
Right number=12x3+3 =36 +3 =139

143. ()

57
3 7 16 32 56 93 142
L 4 4+ 41 il } 4
H2P 3P +Hdy 5 H67 HTP
Hence, the wrong number is 56.
Right number =32 + (5)
=32+25
=57.
144, ()
78
11 18 29 42 59 80 101
| tl 4l 4| | 4 $
7 i 3 7 o 23
Hence, the wrong number is 78.
Right number = 59 + 19 =78,
145. (d)
30
2 9 32 105 436 2195 13182

| i 4| 4| 4 | }

XKIH(I%7)  %2H{(2I26) x3H(3x5) x4+(4xd) HFH(HxT) *6HEX2)

So, the wrong number is 32.
Right number =9x 2 +2 X6
=18+ 12
= 30.
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'
|
|
|
|
|
| 146. (h)
| 51975 )
" 5 55 495 3465 17325 34650 51975
" | 4| 4 4 4 41 4
=11 E] ®] x§ wd =]
| So, the wrong number is 34650.
| Right number = 17325 x 3
| =51975,
| 147. (¢)
| 17 52 IS8 477 1435 4310
| l $ 1 il 4 4l 4
l x3¥+1 %3 +2 Ay +3 =3+4 b ]
| ? = 1435
" 148. (d)
" 3 22 134 673 2696 8093
[ $1 4 4 4 b
| x7+1 X642 x§5+3  xd+d x3+5
| 7=134
| 149. (a)
| 6 13 18 129 532 2675
| [ f1 1l ! 4 1
' €1 +7 #2412 x3+15 4+ 16 “« 5415
L 4 4l 4 '
l +3 +3 +1 -1
| | 4 4
| 2 i &
I ?2=T0
150. (¢)
: 286 142 70 34 16 7
| 4 4| 4 4 4
' 2=1 2=1 2=1 2= 2=1
| 2=129
| 151. (¢)
| 17 9 10 165 35 90
| l il 4 3 4| }
| xseps i n%—l.s WD alags
| 3
) 7=10
" 152. (¢)
" 0 5 18 43 84 145 230
| 4| 4| 3| ! 4| }
' +3 +13 +25 +41 +6l ]
| $ 4 4 il '
: +8 +12 +16 +20 +24
| [ 1 4] 4| }
w4 4 4 4
| 153. (d)
| 10 17 48 165 688 3475 20892
] [ 41 4 4 1 i }
al+7 2414 w3421 =4+ 28 = 5+35 w G442
|
I 154. (¢)
" 1 3 24 360 8640 302400 14515200
" | 3 4 4 3 § }
%3 =8 |5 =24 35 =48
| | 4 4 4l b 4
' +5 +T 4 +11 +13
" | 4 §] } 4
2 2 2 2
|
|
|

155. ()
12 14 32 102 416 2090 12552
[ 41 41 4| 4 4 4
<142 x2+4 =346 x4+8  xS5+1D x6+12
156. (a)
10 15 15 12.5 9375 65625 4375
| 4 il il ol 4 4
X2 i . 5 N
2 4 6 # 10 12
157. (e)
15 &5 40 130 510 2560
l 4 41 4 il 4
S0 %210 %3400 x4-10  x5+10
158. (a)
186 94 48 L4 13.5 775
| 4 4 i L3 4
»<l|-[ >:-!7| ><I-[ x-i--] >\'-E-i-'|
2 2 2 i 2
159. (b)
124 112 176 420 1488 7140
| 4| 4 4| 4 4
Wl =12 2-(2F 3= -4 <5-(5)°
%12 <12 12 =12 %12
160. (e)
384 381 372 345 264 21
| 41 4| $1 4 f
-3 -0 27 -81 243
161. (d)
282 286 302 338 402 502
I . N - L4
22 4 HEY HIP HI10P
162. (b)
2187 729 243 81 27 9 3
l 4 il il t 4] f
! I 1 w1 1 il
"3 "3 "3 3 3 3
So, 3 will come at the place of question mark.
163. (u)
522 1235 2661 4800 7652 11217 15495
| 41 4| 41 4 4 }
H1 X TI3) +H2* TI3) H3XTI3) HA = TI3) H5% T13) (6= 713)
So, 15495 will come at the place of question mark.
164. (¢)
31975 9450 2100 600 240 160 320
[ 41 41 41 41 4 4
2 2 2 2 2 z
><|—] *— 3? x? x} x—
S0, 320 will come at the place of question mark.
165. (e) 4 52x%x2
18 =»3x6
48 —4x12
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166.

167.

168.

169.

170.

171.

172.

173.

174.

100 = 5% 20
180 — 6 x 30
204 5 Tx42
448 — 8 % 56

So, 448 will come at the place of question mark.

(d)
6 26 134 666 3334
| 4 fl 4 il
7] “5+4 <54 =5+4  x

x5

16666 83334
4 4
4

P

i 5e 5
So, 83334 will come at the place of question mark.

(c)

30 65 100 165 265 430
| 4 4| 4 4| 4
30+ 35 35+ 65 65+ 100 1M+ 165 165 + 265
(b)
3 5 7 10 13 17
| 4| 4 4 4 s
+1 +2 +3 +3 +4

So, 10 will come at the place of question mark.

(e)

| il
16 17 15 18 4 19
I 4 4

—1 -1

So 19 will come at the place of question mark.

(@)
3125 256 27 4 I

o

(s * (&% @7 o'
S0, 27 will come at the place of question mark.
(b)
2 3 6 18 108 1944
| il 11 il i

2%3 LR 6= 18 1% = 1R

So, 1944 will come at the place of question mark.

(®)

195
9 15 27 51 99 B
| 4] 4 4 4 4
233 «213 %213 x2}-3 213
(d) The pattern of series is
13 21 36 58 87 123
I 4 4| 41 4| !
+5 +I5 422 +20 +36
| } Al 4 4

=7 +7 7 =7
{d) The pattern of series is
7+(12+1=9
+24
94+(3P2+1=19

176.

177.

178.

179.

180.

181.

182.

. (a)

(c)

(e)

(d)

(d)

()

(e)

(@)

+24
19+(51 +1 =45
+2:d
45+ (7Y +1=095
+2.0
95+ (N +1=177
121
14 5 23 32 96 2
4] P 4L ¢l ¢
W1y (2¥ HP 4= (5=
120
20 24 36 56 84 ?
| 4 $ | 4| ! ¥
+4 +12 +20 +28 +36
644

272 +136 0l +34 HI7
187
7 11 23 51 103 7
| 4| 4 4| 4] L
H4 = 1) H4 % 3) H4 = T) H4 = 13) H{d = 2)
| 4l l 4| $
2 +4 e 8
193
18 27 49 84 132 ?
L 4 $ $1 41 4
0 22 135 48 6
[ 4 4 4 4
+13 +13 +13 +13
203
33 43 65 99 145 ?
[ 4 4 4| 41 }
+10 +22 34 +46 +58
| 4 4] | }
12 F12 12 +12
215
635 439 314 250 223 ?
| 4 41 $ | $ 4
=216 —125 —Iﬁl —i? —H
-6 =5 =4 -3y -2y
102
15 21 39 T 143 ?
| | 4 4 $| ¢
] F1E F18 “hi L102
| H 4 4| |
+12 +20 +28 +3h
| | i }
+8 +8 -8
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183.

184.

186.

187.

188.

189.

190.

191.

192.

. (o)

(@)
183
33 39 57 87 129 ?
Y Y Y Y
+ +18 +30 +42
| 4] 4| L L]
6x3 §x5  6x7 6x9
{a)
731
15 19 83 119 631 ?
4| 4 4| 4| 4
T -Tt -Ti +:112 .-TI)
@? “’ 7 @ (1oy?
236
19 26 40 68 124 ?
(YR Y Y T
+7 +14 +28 +56 +112
| 4| 4 4 L]
Tx2 14x2  28%2  S6x2
(e)
+15 +15
vl Y »
43 69 58 84 73 ?
| I 4
+15 +5
(e) The sequence of the series is

2.5 4 65 10 145 20 265
I 4 4] 4| 4 4 A

+1.5 +2.5 +3.5 +4.5 +55 +6.5
: i
1

4] i

+ +l +1 +1 +1

(@) The sequence of the series is
4 5 12 3% 160 805 4836
| L 4] 4 A A 4

®x1+1 €2+ *3+3 x4 +4 §+5 x6+6

(¢) The sequence of the series is
8 108 189 253 302 338 363

R YA S I R T
+102 192 82 B2 152

72
(d) The sequence of the series is

248 217 188 165 146 129 116
I A N P4 )
-2 3

-31 -29 -19 -1 -13

In the above series numbers are decreasing by prime
numbers.

(@) The sequence of the series is

3 15 39 75 123 183 255

| 4| 4| 4| 4| 4| 4

+12 +24 +36 +48 +60 +72
(¢) 12x6-6x7

30x5-5%6

120 x4 -4x5

193.

194.

195.

196.

197

198

199

460x3 -3 x4
1368 x2-2x%3
Thus, answer is (c).

(e) 154 % 3 = 462
462 +2 =231
231 %3 =693

Thus, answer is (e).

(a) Tx13=91
91 x 11 =1001
1001 x 7 = 7007
7007 x 5 =35035
35035 x 3 =105105
Thus, answer is (a).

(a) 582 -(2) =574
574 +(3)° =601
601 — (4)’ =537
537 +(5)° =662
662 — (6) =446
Thus, answer is (a)
(d) 85 x .5+.5=43
43x1+1 =44
4% 1.5+ 1.5=67.5
67.5%2+2=137

Thus. answer is (d).

. (a) Addition of 1, 2, 3. 4 will be 10 and 10 the last digit of
4th term. What will be the 50™ term?

(50+1)

50th term = 50 49 = 1275 —49=1226

We know that

s =

’ 12a+(n—1)d}

o=

50
S = ?{2x1276+(50—I)I}

§,=2501 x 25 = 62525
. (d) The sequence of the series is

17 49 343 2401
4| _#| 4| 3

x7 7 x1 x7

. (d) The sequence of the series is

13 20 39 78 145 248
L_$L_%|_*| 41 1%

+1 +Hy +38 +57 +103
Mool N oM oM e N
+12 +20 +28 +26
| 4 4 4
+2 +8
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200. (a) The sequence of the series is
12 35 81 173 357 725
L+ ¢ &1 #+| *
6

e 192 e 1368
T T e
=2 =2 =2 =2
201. (e) 3+97 =100
+1004
100+ 197 =297
+100 4
297+ 297 = 504
+100 4
594 + 397 = 99]
+100 4
991 + 497 = 1488
202. (c)

12 119 140 175 224 287
L_ ¢ 8L %[ 4 ¢

17 +21 +33 +48 13681

203. (b)
21 27 48 75 123 198 33

L1 1 1 1 1 ]

+ =ttt 2T =2 F o5 32
204. (c) 32,52, 87, 146.5, 245.75, 403.125, 653.6875
Now, 32x1.5+@2F =52
52x15+(3Y =87
87 % 1.5+ (4)* = 146.5
146.5 % 1.5+ (5)2 = 244.75 # 245.75
205. (d) 16, 17,32, 99, 392, 1960, 11784
16x1+1=17
17%x2-2=32
32x3+3=99
99 x4 -4 =392
392 x5+ 5 = 1965 # 1960

206. (e) 5,9, 18, 34,60, 95, 144
5+(2° =9
9+ (3)° =18
I8 + (4) =34
34+ (57 =59 # 60
59+ (6)2 =95

207. (c) 36,54, 81, 120.5, 182.25, 273. 375, 410.0625

B rgss=st

3 _27454=81

2

?' =40.5+81 =121.5 % 120.5
121.5

=60.75+121.5=182.25

2

208.

209.

210.

211.

212.

213.

214.

215.

216.

(@)
4690

4 10 40 190 940 7 23440
w b | a0d | asod | wod | amsed sk
|

w¥ ok [oF [ aF =%
(b) 4000 2008 1012 ? 265 140.5 78.25
4000 — 2008 = 1992 + 2 =996
2008 — 1012 =996 + 2 = 498
1012514 =498 +2 =249
514-265=249 +2= 1245
265—140.5 =124.5 + 2=62.25

(d)
20
T 4 5 9 7 525 1605
L+ 41 +] $[ %] 4
25+5 =x1+] *15+1S W22 *2.5+2.5 34l
(e)
144
5 54 o0 115 131 140 ?
ke ik ke sl il o
T (6P & @ @7
(c)
252
6 42 ? 1260 5040 15120 30240
Y Y S T Y A Y Y S
*7 =6 x5 w4 x3 x2
(2]
78
13 16 2 33 50 M
| B h | 464 [+ud |+t b | +27d
| 34 [ +s5h [k | )
(c)
234
39 STZ ‘J’TS li? 159 (03]
13x3  13x4  13x6 13x9 13x13 13x18
L& [ & |+ |+ [ ¢4
(a)
222
656 432 320 264 236 (7
|-224% | 1124 | 564 |28 4 [-144
24 | a2) [ 24 a2
(3]

1437

62 87 187 412 812 (D)

|25 § [0} |-2254 |a00d | 6254
[ 754 [ 1254 [ 1354 |54
[+s0 4 450 4 | 4504
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217. (a)

218, (d)

219. (e)

986

7 b 24 105 36l 7)
[« 4 | ws b | wm b | w2 b | w25 S

(12 (4)2 (9) (16)% (2502

[0 4 [ o=t [1s074  [25-1004
371

9 62 ? 1854 7415 22244
L4 | 4| o

K7l Gml  #Sml e %3l
Hence, the answer will be 371.

124

4 8 24 60 ? 224

I N ) V. 1%

+22 42 +67 +8? +10?

Hence, the answer will be 124,

220. (a)

8000 1600 320 64 128 7
L+ L ¢ L 4L ¢ 1

+5 +5 +5 +5 <5
Hence, the answer will be 2.56.
221. (b

F3%1 +3x2 13x4 +3x8 +3%16
Hence, the answer will be 99,
222. (¢)
57
7 8 1% 7 232 1165
. S IO S N T N | }

%141 242 x3+3 wd+-4 %545

Hence, the answer will be 57,

223. (b)
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